o . 9 1 9N 1° C 9 @ R aws e & A @l
faf¥re on gmal w58 & |

g = 9
mAQ
FFIS — Ike —°C (S. L. system)
= cal/gm-"C
G &HAT (O)
C =ms= Q
AB
T gD

o [P g A Fon awa B O D FEEE B w9 A R @
W T AE TP FEd & I8 U F1 98 FamH & P axg @

TR S o9 R M J g @ g 2 2
W =ms

T FE
() & fFm ugiel & sotie W ggem @ fol savgs e e @t
a1 ugel B T B TR H Fearl §1 96 B T B YD
F1 L = 80 Cal/gm B 2
(b) ¥ & FTPE FHA B FITF W I IR H o D B
HTEF S I Bl [ HO FEA & |
S § a9 B o L= 540 cal/gm.
¢y Q=mL
Note -
. 3N B N A 9o w A aRads 8 §)

AT & 9@ W19 —2°C &1 9% & a0 &MY ¥ 100°C &7 Wm A
IEEH AEd &, a1

L.
cas 989 Geogqes e, gocurn
temp lemp=cons.

oo urr 25280 jopcqrey L, g
temp ) temp=cons.
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T 6 ¥ IU UeR T o 9%l 8 |

water + steam

100°C
«— water
o°C N
2" [—]c:\ Ice + water
Fardder &1 g

() v/E P aieE @ <1 uerf el e €

e geref gRT % wen == i werd gr smaifa Fem
mys; (Ty = T) = mss: (T - T2)

Gi-m auT = ITIlSlT! +|n3$2T:
m s, +M,5s,

S o e o= 79 1 & Fam

a6 TE darricy 3 e S gege W R AR 98 Sd #
m, SEAF 9, TAM W @A 2| WF ™ 9 0, A )
T m, &, AR § @ S &) s F eiftm a6 #|
If ow B fafdre T 5B @

T gUT HERMIER §RT TS B T FH
=(m; + W)s x(0-6,)
e s P AR e o

o g1 D Tlé HH =m, x5 %X (0.-0)
Pariies @ Rigra 9,
ms(B:-8) =(m; + W)s(6-8)
¢ = (m; +W)s{6-6,)
mz(ez-e)
e A T S AR A

A T SeiNMIcy & 99 Jie W B $99 m, FEAF 61 9 6,
TITF G @ | AT S m, TEE #9100, A U)W | g
a2, o Mo F1 aueE 08 Wt 2

afe wia o fadre o1 8, 09

T T FARHIER §RI T8 F = (m; + W) xs x (6 -6))
ofy IrF F T SN LE, 79

79 o) o § gRafdg 8 R T FH = ml
PR & REA | =m, x5 x(6,-0)
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R 13 FH = U8 P T &
moL + mys (6:-0) =(m, +W)s(©-0)
mL ={(m +W)s(®-9,)-m.s{0.-9)
_ {m; + W)s(0-0,)

L -5(8,-9)
fit4
S (J) o QT gouis
W = JH I T AIFAE = Joule/cal.
+ t T=42 Jcal.

JE@Hd PR
a9 P BT FaR
Te=0 _Tp-32 Tg-0_T,-273
100 180 80 100
Te - Wftwaa § au
Ty — BRBIE | a9
Ty —> &R | a9
Tk — Bfeas #§ g
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